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Read each question and underline the correct option.

1. Natalie is out for a run. She decides to run around a park in town. The length

of the sides of the park are 15 feet, 10 feet, 12 feet and 14 feet. How many feet
will Natalie run?

a. 51 feet b. 15 feet c. 150 feet

2. A picture has 2 sides that are 6 inches and 2 sides that are 10 inches. What is

the perimeter of the picture?

a. 60 b. 22 c. 32

3. A pentagon has 3 sides that are the same length and 2 sides with different

lengths. The 3 sides are 8 cm long. The other 2 sides are 11 and 6 cm long.
What is the perimeter?

a. 66 cm b.41 cm c. 24 cm

4. What is the perimeter of an octagon that has sides 9 inches long?

a. 70 inches b. 64 inches c. 72 inches
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